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Un*qhfrp' Ophhurl[rp, qnpEru+trp rftupri[rhhtp

prud[rtr 01 lunttlp I 4uru 1 bpuq[p 51

Uqpruhphhp

$puu hfuul1ryltb uulputrybhp b fuatphp, npig 700.0

30197631 Squrqpur\ruh pnulp (U-4 $nptlurur 21x29,7) UU hunn 2200 145 319.0

30197232 Upurqru\rup prlph uu huru 100 200 40.0

30197231 Upurqu\urp qn$ilhpu1f L purlurhp UU hunn 500 200 100.0

30197233 farlpruqurhur\ fnryrh uu huru 100 200 20.0

30199420 L2nttlhbpfr pnqp(\u1nrl) UU tnnr-rlr 600 50 30.0

30t97321 trurplrjrhp uu huru 1000 10 10.0

30192121 +pfr2trhp (\*prlfrn, uLr,\urqntln) uu hruur 100 100 10.0

30197234 fdrlpurqurhurh \rZ* \uqiln{ uu hurtn 1000 50 50.0

30199231 Upurpbhp uu hurur 100 1000 10.0

39263200 Qpurutblur\ru1ht, qhnp lru huln 1000 18 18.0

39132300 $*tt UU tnnuf 1000 20 20.0

30197330 'I*\hr tru hurur 1000 8 8.0

30197120 rrn6qurd UU hurur 200 5 1.0

30197120 UrIpur\ UU urnr-rJr 200 20 4.0

24911400 Unu[rh& uu hurur 200 20 4.0

30192160 C-nhto UU huln s00 20 10.0

22310000 trutsb\htp UU hurur 1000 30 30.0

2281 I 150 Lnpulnhurp uu htutn 1000 l0 10.0

30199792 opurgnLJg UU huln 2000 J 6.0



35821400 'Ipn2u\hhp uu hrurn 3750 40 150.0

30121500 €urpppfr2hhp 2|pu1|L HP57 uu huru 10700 2 2t.4

30121500 €urpppfr2trhp 2fpu1[L HP56 uu huru 7730 2 14.3

301921 13 Purpppfr2hhp prqhpulfrh SCX-4300/ 43101 4315 tru hurl.n 28000 I 28.0

30121500 €ruppplr2htp 2|rpurlf h HPa5 uu hrurn 34000 I 34.0

30121500 €urpppfr ghhp 2|rpur1|rh HP78 UU huru 33000 i 33.0

301921 13 €urpppf2htp luqhpurl|L 719 H UU hurtn 70000 2 140.0

301921 13 €urpppfr2trhp lurqhpurlfrL HP 126,4. YeIIow UU hunn 4000 i 4.0

301921 13 Purpppfr2hhp prqhpurl[rh HP 126A Black UU huru 4000 1 4.0

30237772 Uhnrgriurh pln\ uu hurtn 7500 8 60.0

30234400 4unnrup\ u\ur{unur\ DVD/ -R UU hunn 150 17 2.6

30234300 4urr.nuip\ u\unlurnru\ CD/ R UU hurtn 100 20 2.0

30237411 ,IUlrhlf , hurilur\urpq2ur1 [rh, ltupnrl uu hurur 5100 2 10.2

30237t35 Surhgur3|rh purFu UU hurtn 3500 4 14.0

30234660 51h2 hfr2nrlntplnrL 128GB UU huru r6000 I 16.0

30234650 $1h2 hfr2nqnrplnr-h 64GB UU hurtn 12000 2 24.0

31331270 Uurlntlu 2X0.75 UU il 100 300 30.0

31300000 Uurlntlu outdoor FTP cat 5e Hypertine UU il 100 300 30.0

30237132 USB ur4ruuryrp UU huln 3000 4 t2.0

30232320 urpururplrh orqurfr\ru\urh u\ur{urnur\*\hp UU hurtn 15000 1 15.0

30237460 uurhrltrur2urp UU hunn 6500 2 13.0

302371 l3 rrnht\urnp UU hurtn 100 50 5.0

30237rt2 u{f216 UU huln 16000 3 48.0

30236I I0 Oqhpuurfrl hf2nrlnrplnth DDI(3 RAM 4Gb u'u hurr,n 18000 4 / 2.U

30t97643 Qnurnpnulp UU hurr,n 2s0 150 37.5

302371 I I Uhntgrlurh Uqplntp Mercury 550W UU hurur 8000 2 16.0

302371 l l Uhnrgrlurh Ulplnr-p Mercury 450W UU hruur 7000 2 14.0

Vhbgu4rylth h1a ryhp, apltg 900.0

3981 1300 2,ntnurqhpblr2 uu hutn 1000 4 4.0

39812100 Uurbnrbruhhhp (tIuuu[\urhhp) uu huru 500 41 20.5

39831000 Odurn uu urnulr 500 10 5.0

392241000 Urlh1, |unqrutru\ UU hu,rur 1000 l0 10.0

33141 1 18 Uh&hnnglr\l-rhp ururpphp UU urnulr 250 30 7.5

33761000 9nr-qurpruhlr pnrrlp uu urnr-rlr 100 100 10.0

24451140 Uftnqh1 uu huru 2000 10 20.0

39831242 Lqugpb qln2l' uu urnulr 300 10 3.0

39812410 9urhnrlpfr rlurllhgntgf 2 UU hunn 1000 4 4.0

Zuruu\fr 2ti2ng uu hunn 600 10 6.0

Ufuunuhurh[r2 hhlnt\ UU hrurn 700 10 7.0

Uhrpuhlr 2np uu hruu 150 20 3.0

'Ifilu\hhp St t*l,"rl uu hruur 2200 50 110.0

'Ifilu\btp uu hrutn 230 2s00 575.0

lhnhnghhp UU urntrfr 10 5000 50.0

Zur\uruhqur[r\ urL&hnLn g[\Lhp uu tnnrrlr 150 100 1s.0

Ufurnurhtutrfr2 UU huur 12s00 2 25.0

Ufinqh1 UU hrutn 2 25.0

24451141

39831282

3314t129

33141 129

t8421140

18421 130

24451140

24451t41



Sp u lt u qn p u ry]z It tqn ryhp, nqlz S 2500.0

09132200 trtLqftr UU ftrnn 400 2500 1000.0

09123000 trhu\tuh uhrpftlurb qurq UU \q 300 JJJJ 1000.0

0921 I 100 rqurhtuurullurutp UU rlFurd 1.0 s00 s00.0

Gbttp 2fibnry1niltttLpfi Lbnp phpnul 5128.8

44211130 Ln Ln b n L u { utp2 ut Q ut tt w tup w 6pn uI 2 h ttplt g b n uI Lru +Puril 1.0 6128.80 6128.8

Uurnrulnrplnthtrtp

661 1 1200 Fw tt Q qrt [t \tunwln tp1 n t b b hp 2 EF lru rlpuril 1.0 50.0 s0.0

9310000 fut\r.nptuttrhpqfnu1 [r bur]uu uu \,1* 41.8 43062 1800.0

9123000 9urqlr Eurluu uu |unp.tlhup 139 4300 600.0

Vn ln ilt tu 1 twnuln tpla fi h hp, np] g
651 1 1000 9pf burluu uu [unp.ilEurp 180 833 150.0

Vuufli Eunuln ry1 n fi tt hp, ap/t g 2640

64000000 Upntrthtnurlfrh {urp& uu htutn J 57.7 173.0

64211200 Llfr2prulurpur3|rh hhnurlunuurlfrh brunulntplnthhhp uu 4pull I t27.0 127.0

32412110 hhrnhphhrnurlfrh bunurlntplnttrhhp uu rlpurrl I 2169.0 2169.0

32412110-1 hhrntptrturtul|rh ur11 bunurlnlplntLrhhp uu 4purd I 60.0 60.0

641 10000 @nuurur3|rl,r burnurSntplnttrhtp uu 4nurd I 11 1.0 111.0

Uuluhattuqpu Qut h tuluu hp, apfig 50.0

665 1 0000

Ournurl nrlur\urh rlhphtrurl |r
urqurhnrlruqpnrplnrh

uu
dtpthru-hurr

50.0 I 50.0

q tu1 lw h uqp u1rt h hunuln ry1 n ilt tt bp, np]tg

98391200 2urhprul|rtr hurur{urb}r 20 uuquruurp\ntil UU qlnuri 170.0 I 170.0

U2|uuurur\urqil|r durutrurqfruru\ruL rlhp*q, UU rlFturi 100.0 I 100

Shq h Q wu {u I1u h tttnuln tpla ilt tt hp, ap/tg 30.0

222t2120

n2urJururnuhtr 2urtrpruulhtnnrp3nrh,

fntnfrh pudurtrnprlurqpnrpl nth UU rlpuli 30.0 1 30.0

CIt4h ut hn ry p & n qp| u1 1 tutn u1 a tp1 a ilt tt b p, npfi g 400.0

60121 100 U11 bunryntplnLlt UU 4Irrud 100.0 1 100.0

Iun p h p 4u tn { u Q ut b tu n u1 n tp1 n ilt uu 4purtI 150.0 1 150.0

71631 120 Utuntulnlu\urtr tihphhurlf tnh[uqtrnrd UU 4prurI 50.0 1 50.0

222t2tOO fahppnui hurluurpurpnrplnrhtrhplr uruluqpnrti lru 4Furil
100.0 1 100.0

Utau huqltuut Qut b tutnrynry1a tttb bp, aplg 60.0

76130000
atuqir rnhluLfr\u\ruh huitiur\rupqfr

uqururup\nui uu
4pultI

60.0 1 60

1350.0

3020000
€urpppfr2hhplr trgpuqnpilrutr trtp\ UU rllurd 750.0 1 750.0

50111130 tthp. hnpnqnLl lt uluthtquthnul uu 400.0

7963t200

UhptLtuLhpf tr

I4Furil



4431.1240 0utt nnth wb L bplt [wqwtlwlt4u QIt hp hruur 50.0 4

U2fuurnutrptrhp, npfg

71320000 Lurfuurqburhur]uurhru2r{ur1}rh rfruuuuprphp o-, llrurl 3000.0 1 3000.0

Ofr*qhpp' CL4hurhnrp phntlpfr ru11 burnurlntplnthtrhp

purdfrtr 0l ]unufp 3 rluru 3

Uurnurlnrplnthhtp

1250.0

72211160

9nrlpurhurp\]r tr hnrlfr h*fr\h urr.lr.nn rlunnugr{urb

hulilru\rupqlr uquruurp\ntrl
uu +Furd 326.4 1 326.4

72211160

ZutlurlLpruSfrh [urnur{utptlurh
uhrlh\urtn{ur\uL bpuqhp uu rlprurl 204.0 1 204.0

@urutntuprutrur\urh burnurlntpl nth UU 4Ftuti 300.0 1 300.0

Ol*qhpl' Ctrlhtrntp phntlplr ru11 burnurlnrplnr.trhtp

purdfrtr 0l ]unrrlp 6 rluru I

Uurnru;ntplnrhhhp 1500.0

Lfuu butqlu ut Q u b Eunu1nry1n Lb b hp, np/tg 1500.0

70000000 Utr2urpd qnll pb qtrnur\urh frpul{nrtrpfr qpurhgntri UU rllunl 500.0 I 500.0

71311360 ?unlrurqpntil uu 4puril 500.0 1 500.0

70000000 Qhuhutnnttf uu rlluril 500.0 1 500.0

Opurqhpp' €urrpupruglrur\urtr rqur2ur qurirnrpl nth
pudlrtr 02 iuntilp 2 ryuu 1

Urunurlntplnthhbp 200.0

79634000 Uuruhuqfruru\tutr brunurlnrplnrhtrhp UU 4Funi 200.0 I 200.0

Onruqhpn' @pl1 urpurp Eurnrulntpl nr-l,rtrhp

pudlrL 02 [unrdp 2 rluru I

Urunurlntplnttrhhp 200.0

uu
On*qlrnl' duhtuuluphurl|rtr tnpruhuulnpur

U2|uruurruhpbtp, np[g 40350.0

73111200 Uu$rulurfr trSntpfr LtuFnptutn. htururqnuntp3nth UU +purd 350.0 I 350.0

34921140 &ruhurqurphhhp[r qbrutr2ntrl uu lFuni 1000.0 1 1000.0

45231177 druhuqurphhhp[r rlhpruhnpnqntil q2 pd 37100.0 1 37100.0

St[utrir\u\ruL hu\nr1ntpl nth UU 4Iruil 600.0 1 600.0

71320000 Lurtuurqbhnh u; rurnpuuurntrl LIU llurl 1000.0 1 1000.0

prudhh 05 luntilp 6 4ruu 1

Aunryntplnilttthp 1000.0

90921200 fdulhunnn Lhhnurhhhhn rltluuurqhnbnril uu nnrurl 1000.0 I 1000.0

UU 200.0

79100000

7t35

Ol*qhn p' trtrur\urprutlul |rL 2f Luputpntpl nttr

purdfrh 06 ]unr-dp 1 rluru I

9pnrgurpurhhhp uu hruur 450.0 2 900.0

Onurqhnn' @nnnqLhnh lnruru{npnttl
pudfrh 06 [unrtfp 4 rpuu I

Urqprutrphhp, nFhS 15000.0

3153r300 L1 tntrurhunrl 1tr1 lntuururnthhp huln s0000 300 1s000.0s2

I



22811120 ULqnppruqphplr uqnrtl uu hruur 0.07 4962 347.3

OurnurlntplntLtrhp, nplrg

65 l l 1000 9plr bufuu UU [unp.tlhtnp 130 23077 3000.0

U2|uunnurtrpbhp, npbg

45241170 9pruphplr |utlhlnt 2llurqbb \urnntgnul qz 4puril 26000.0 I 26000.0

Stlutrfr\ru\uth hu\nrlntplnth uu rlpuli 650.0 I 650.0

7135610r Zh{rhur\urlfrLr hu\nrlntplnth uu 4Fruri 350.0 I 350.0

71320000 Lurluurqbtpf qurlnpururnnuf qt llurd 2500.0 I 2s00.0

Unuqhnn' CL4huLnrn ptrttph rdzhuihurh brunrulnrplnttr, nphg

pudlrh 0T |unttlp 2 quru I

U2fuurnrutrptrhp, np[g 37000.0

45214100 €urlurprul|rtr qnflr\frtr\ur1fr h[rilhurhnpnqnrti lru rlpuli 34000.0 I 34000.0

Shlutr[\ur\urtr hu\nr1nr-p;nth uu 4Fud 650.0 I 650.0

71356101 2hqlrhur\url frh hu\nrlnrplnr-h UU 4Purd 350.0 1 3s0.0

7 I 35 1380 Uh1 udfr\ hqpur\rugnrpl nrtr uu 4Iruni 100.0 1 r00.0

71320000 LurluurqbhpI qurtnpruurnnul lru 4Fruri r900.0 1 1900.0

Urqprutrptrtp 4079.0

30000000 .trup2ru\ruh u urppullnpnrdhhp qpuruhtr. $nt1 p n plrg

3912r 100 Uhrlutr 1400.600.750 q2 huln 45.0 2 90.0

39121 100 Uhrltuh l 200.600.750 rpupur\nr{ s2 huur 30.0 16 480.0

39121 100 Uhlurh l 200-600-750 urnurhg rlurlull qz hurur 2s.0 10 250.0

39121 100

Utqurtr I 200.500-750 hulftu\upqfr2 tnhrlurrlphlnt

rntrln{
q2

huln
30.0

4
120.0

39121 100 Utr1urh 1050-400-700 q2 hurur 2s.0 t2 300.0

391 1 1 180 Upnn 2urpdur\rutr hnprlur\unlnp SZ hruur 40.0 l0 400.0

391 1 1 180 Upnn' hlr\hpuqunn hlriltrur\tiufupnrl q2 huln 12.0 30 360.0

391 I 1 180 Upnn' tlhururrlh hluitrur\ttruhp".l s2 hrur.n 8.0 55 440.0

391 1 1320 Luuurpurh ilhtnurrlur\urh hlnfpn{ s2 hrutn 20.0 t2 240.0

39132100 '[uhtupruh /gngul[rhr1\/ s2 hrurn 75.0 7 525.0

39132100 'Iltuhupurh /gntgrurfrhrlq/ 800.450-2000 q2 huur 60.0 t4 840.0

39132100 nurhurpurtr/mnrdpur/ s2 hurur 34.0 I 34.0

Unurqhnn' U1 1 rl2urll nrpurl frtr 11 uq rlur\ hpq nr-p1 nttrhtp
purdfrtr 08 funrtip 2 rpuu 4

Urunrulnrplnttrhhp 2500.0

751240000-2 Prurpuplr op tru 4Ptuil 500.0 1 500.0

751240000-( Utiurhnpfr tlfr2ngurnnul uu rlpunl 500.0 I 500.0

751240000-( lru rlpud 300.0 1 300.0

751240000-( Snhtu\rutr prluhp uu 4puli 1000.0 1.0 1000.0

31212000 Ourlh\Lhp uu lFtuti 200.0 I 200.0

Unurqhpn' Zhnntutnruhur4np4ntritrhp
purdfrh 0S funttip 3 rluru I

Onurqhnp' Qpuriluururllurpurpntrl, npfo 32847.3

pudfrL 06 [unttfp 3 rluru I

Uqpuhptrhp, nphg

71 35 l 540

71351540

Lrltptrhn



Onurqhnn' 9prutftutnur!ruprupntrl, nplrg 32847.3

ptudfrtr 05 ]unrtlp 3 4uu I

Uqpruhph

71351540

71351540

4962 347.3uu hurtn 0.0722811t20 Utrlnppuqphplr r.nqnui

OrunurlntplntLhhp, np[g
23077 3000.0uu |unp.dhurp 130aplr Eufuu65 l l 1000

U2luurururtrphhp, np[ g

26000.0 1 26000.0q2 4Fruri45241170 apuphplr fudhlnr 2puqbh \runnrgntrl
650.0 1 650.0uu rlpurilShlutrir\ur\urh hu\nlntpl nth

1 350.0UU rlpruil 350.071356101 2hr1frtrur\ur1 [rh hu\nln rpl ntl:

4Frutl 2s00.0 1 2s00.0Lurfuulqbhpfr q urtnpruuurnul s271320000

Opuqhnn' Ch4huhnrp ptttph pd2\ur\ruh burnurlntplntt , ttnltg

purdfrh 0T |unufp 2 4ruu I
37000.0

U2lururnruhphhp, np[g
I 34000.0UU llurl 34000.045214100 €uryupur1frtr qnfr\frh\u1|r hfrdhuLnpnqntrf

I 6s0.0UU lnull 650.0Stiuhfr\ru\urh hu\nr1nrp3 nrtr

I 350.0uu rlpurd 350.071356101 Zhrl|rhur\ur1 |rh hu\nr1ntp1 nttr

4luil 100.0 I 100.0uu71351380 Ut1urf[r\ hqpur\urgntp3nth

1900.0 I 1900.0uu rlpull71320000 Lurluuqbhplr qunnpurur.nntrf

4079.0Uqprutrptrhp

30000000 .{rup2ru\utr uurppurlnpnttihhp qpruuth. Qnr"1p npfrg

2.0 90.0sz huur 45.039121 100 Uhr1urh 1400.600t750

s2 hruur 30.0 16.0 480.0UhrlurL I 200-600.750 4urpur\n{39121 100

hruur 2s.0 10.0 250.0Uhrputr 1200.600.750 urnurtrg lurpull s239121 100

120.0s2 huln
30.0 4.0

39121 100

UhluL 1 200-600-750 hutdur[urpqf 2 ut hrlur4p hlnt
urbrln{

hurtn 25.0 12.0 300.039121 100 Uhrlurtr 1050-400-700 q2

hunn 40.0 10.0 400.0391 I I 180 Upnn 2uipdur\urtr hnp{ui\unlnp sz
hunn 12.0 30.0 360.0Upnn' trlr\h1 ruq urtn hlrtftnu\rfurfu pnrl q2391 1 1 180

huln 8.0 s5.0 440.0Upnn' tihtnurqh hltihur\rftul"p"rl q2391 1 1 180

hurtn 20.0 12.0 240.0Lutmupruh rlhrnuq ur\utr hf tlpntl q2391 1 1320

525.0s2 hruur 75.0 7.0'Thuhurpurh /gnrgunlrhq\/39132100

hurn 60.0 14.0 840.0'tluhurptuh /gntgullrhrlU/ 800"450.2000 q239132100
34sz hruu 34.0 1.039r32100 'Ilurhurpurb/rnnulpur/

Opuqhnn' U11 rI2ur\ ntpul frh \ u.rqrfur\hpqnrpj nttrtrtp
purdfrh 08 |unr-rfp 2 rluru 4

2500.0Uurnurlntplnttrtrhp
s00.0uu 1puil 500.0 I751240000-2 €urrlurplr op

I 500.0uu 4pruri 500.075t240000-( Uilurtrnplr tlfr2n grunnr,rl

I 300.0UU rlpurd 300.0751240000-( L{tpLtp
1.0 1000.0UU 4purti 1000.0751240000-( Snhur\urh lntluhp

200.0 1 200.0LIU 4Irurd31212000 Ourl[\bbp

Onurqhpp' Ztnnruururhurrlnp4nrriLhp

prudlrtr 08 funtrip 3 rluru 1



Urunu3nrplnrhhhp 500.0

64228000 lu.rlnp4nuihhplr qurtnpruuunril, pnrlurp\ntil UU 4Iruril 500.0 1.0 500.0

Unuqhnn' Shnhllulnrlur\utr burnurlnrplnthhhp

pud[L 08 ]unuip 3 4uu 3

400.0

Un*qhfp' Surppru\urtr \ppntpSnth

purdirLr 09 |untilp I 4uru 2

Urqpurhptrhp 400.0

UU +null 400.0 1.0

Onurqhnn' Unqhuturturh hurtnnt! urprnnhntplnrhhtp
prudfrtr 10 funttlp T quru I

2640.0

9nrlpfr rlurp&ur\urlntplnth nnurI 2640.0 1.0 2640.0

Uulprutrphhp 400

3371 1480 Odurn UU hurur 90 30.0 2.7

39831242 Lqusptr +n2h uu \q. 380 30.0 11.4

39831240 durlhl UU rhtnn 90 30.0 2.7

24451140 Ufinqb1 UU 2|2 (a00d1) 1500 30.0 45.0

33761 100 9nrqurpuhlr pnqp uu huln 100 32.0 3.2

15612180 uqfnnur\ ruunln UU \q 392 252 98.8

15619000 hurdurn LIU \q. 400 36 14.4

15616000 hh4\ur&rurlurp UU \q 685 70 48.0

15331 153 nuul UU \q. 850 70 59.5

0321 1300 uqlrtnru\ pp[h& uu \q 777 35 27.2

15421 100 pnruulluh lnrrl uu Lq. 672 35 23.s

03221 I t3 )nF tnFh UU \c. 1564 35 54.7

15831000 2upruprur.lruq UU !q. 267 20 5.3

15872400 lnlurgtlub rurl uu \q. 180 20 3.6

70130000

aLnrrthhpfr hurilur\urpqnrl .{. tlurpurfrpnulurh

4UU.U


